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e 1 Maths By Pradeep Sir i

Ql In the given figure find the angle of
¢ABC. .
fee e A3 A LABC &1 AT ST HifAe)
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Q2. In the given figure, what is the value of
LIV L24L34L48445=7
&l 918 npla A, L1422+ 23+24+,5 BT ATl T

g2
m

(C) 360 (D) 450
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Q3. In the given figure, £.BAC = 70°, £ACB =
45° and <4DEA = 140°. What is the value of
£BDE?

& 91 anpfd A, LBAC = 70°, LACB = 45° @1
¢DEA =140° g1 .BDE &1 HTal a7 £?
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Q4. In the given figure, EF = CE = CA, What is

the value of <EAC ?
at g A EF=CE=CAZ @ LEAC &I

Hlel Ol :

A) 58°

(B)64°
C)72°

(D) 32°

20 =96

¢ ) ~"\.’ - ® B gq.
a :‘ L = QL{
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Q5. In a given figure, If AD = DE = EC = BC

thenzZA:«4B=7?
ReswefdmfRaAaR AD=DE=ECc =BCc B!
¢A : 2B BT AT T EPM?

[ J@e:s

(C)3:1 (D)1:2
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Q6. 2 sides of triangle are of 4cm and 10 cm.
If 3rd side is length of ‘a’ cm then which is

correct value for a.

tgzasﬁaﬁfé’i "4?%32:110332;?
| AgAATE Sang ‘o' . 2,
a’la&ﬂaﬁa-mmgi? :

(A)a>5 (B)6cac12
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Q7. In a triangle ABC, O is any point inside
the triangle then which one of the following

is correct?

fAs(e ABC & 3ige HIF flsyg 2, at fAewr A A

2 ‘d\p BIAH BAA T E ?
\ j:; 2(0A+0B+0C)>(AB+BC +CA)

@> A B (OA+0OB+0C) < (AB+BC +CA)

4C) 2(AB+BC + CA) > (OA + OB + OC)

+%>> '2‘; ~(D) (AB+BC + CA) > (OA+ OB + OC)
0f+|0C

X (RO +80+00) > AR+ Ac+Re

y
/O
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Q8. ABCD is a quadrilateral AC and BD are
its diagonals then which one of the
following is correct?

ABCD U® dqafd g 3l AC @1 BD 3&S &l
fAwof E, At A A A Boran Hea T 22

A) (AB+BC+CD +DA) > (AC +BD)
iag §A8+BC+ CD+ oAg <2(AC +BD)
(c)BothAandB /2T A 328
(D) None of these | a1 & 13 olal
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Q9. The 3 sides of an acute angled triangle
">  are 15,17 and x cm. if x is an integer then

how many such trian%l:'es are possible ?
. 2 x_ e el Sga Biv 2 diat efwrre 15 A, 17
IS+ 13" Aaft 3l x Aaft 81 3l x ves quifes ¢ at 2 faat
AT +2* > &89 AA+289 ) 2 faafaaafatl

x > 6 [ 519"
[1>8J A2 Sx
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[ a¥: ™ > C’-j Q10. If the perimeter of a triangle with
integer sides is 32, what is the largest

possible length of the longest side?

ngt
a + b - uﬁﬁa‘d’tqm?z 3 arss fRa(ar &1 uffayg 32
e zmmwﬂ%‘gamm%m?

it i (8) 16

L. J > iy (C)17 L/\ (D)18
9
L‘J 7 @
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Q12. If a and b are the lengths of two sides of
a triangle such that the product ab = 24,
where a and b are integers, the how many
such triangles are possible?

afe a 3z b fbeft Ao i 2 oot za W ¥
f& ab = 24, WET a 312 b Yuifes &Em g, at e
flsaat fRaf Fora ¥ ?

(A)12 (B)18
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& +b DE Q13. Which of the following represents the
sides of an acute angled triangle?

fdssr & @ &1, v &1 R &t
afor3il @Y zerfar 22 ——n

O
7,8, 10 2 4a 4 oo (A)-6; 8,16 (8)7,8,10

‘[l 135 100 [(c) 5,12,13 ] (D) None of these
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Ql4. Two sides of a triangle are 12cm and 15
cm long and the third side is integer, then
what is the largest value of third side for
which tri- angle is acute.

f&ft 2 2t afoTt 12 Af. Fem 15 A, 2

uastprfas ¢ at dfiEdt oo w1 A
ufﬁasaa;jg'm m&ﬁaﬁ%

(A)17 (B) 18

(D) 20
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Q15. Which of the following combination of
a +b 2C sides results in the formation of obtuse
angled triangle?

. B R & e H sl &
a +bo=c2 fAeafSf@a daoa A S daaa Jgl 2 2

Aoyt e
(D) None of these

XS +2W <L\

1L +35 ¢S ¢\
- €
\{\LRG \2
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Q15. Which of the following combination of
sides results in the formation of obtuse

angled triangle?
B R & Isa H sl &
fResfSfAa daive A saran daa g1 € 2

(NIRAE (B) 5, 6, 8

(C)4,5,6 (D) None of these
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QI16. In an obtuse angle triangle the length
of side opposite to obtuse angle is Kcm and
length of remaining two sides is 12 cm and
17 cm. how any such triangle are possible ?

UH maasmaﬁm Ao A maasa ST a;m mmﬁ
el 3 3T 12 17

ggglm%ﬁajmiaﬁt‘l -

(A)7 (B) 8

(c)9 (D) 10
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Q17. In AABC, 2A = 68°. If | is the incentre of
the triangle, then the measure of BIC is:

AABC & £A = 68° 81T | Re(e1 &1 3ia Hz ¢, at

e LA | £BIC &t AT AT B2
o
(A)12a° | (B) 68°

(C)148° (D) 54°
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Q18. If one of the angle of a triangle is 64°,
A- - then the angle between the bisectors of the

E” ezéﬁ) :Itfg%r%ofg‘ teﬁg gsgug!’llea; ';uas 64° 2, at 3=
al fiafs & FAfgaTa® & da &1 ST

ghm: )
(A) 100° ( (8) 1220
L} <  (c)9e° (D) N2°

= ——
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(90

o?

¢ LA

c

Ao+ 1S 5 Jas

(b—"

Q19. In the given figure, the angle bisectors
of B and C of an isosceles triangle intersect
at point O. Find the angle BOC (in degree),

when £ABC = LACB=75°

&t orft s A, R & HrB 3z c
$mmgﬁ§w £1 HIUT BOC &I
arat (f33ft A) 5ita &¢, Ad LABC = LACB = 75°

2

(A) 105 J (B) 147.5

A

(C)160 (D) 170
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AL

Q20. In a AABC, the bisectors of 2B and C

meet at O. If £BOC = 142° then the measure
of LA is:

AABC & ¢B 312 ¢ & FAfgamas e fA=a
t’mﬁméca:wt’a’lmanmf;mam

(A) 52° (B) 68°

(c) nee | (0) mi

%9\: l;-:\ LQ:I\QH

]




Maths By Pradeep Sir -

& Q21. In AABC, AB and AC are produced to

» Points D and E, respectively. If the bisectors

o‘o+ "’of <CBD and BCE meet at the point O and
<BOC = 57°, then £A is equal to:

AABC &, AB 312 AC & B2l fi}zoaﬁzeaai
= derar witar g1 afe .cBD (BCE &
8 A ¢ gafganaies g 2 fAsa €, ik .Boc = 57° ¢,

al A BT ATA SATd He
D \) 93° (B) 57°
. Mo~ B
(c)eee] . = (D)na
0O et B %
: qo~iq =
X[ 3
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Q22. In APQR, PS is the internal bisector of 2P
meeting Qrat s, PQ=16cm, PR =22.4cmand
QR = 9.6 cm. The length of SR (in cm) is:
APQR &, PS, S U2 QR & fASA a1 P &1
yiafde fRaTeis 2, PQ = 16 cm, PR = 22.4 cm
3ﬁZQR 9.6 cm 2 snﬁm(cma})m

¥ -H- eay ()44

e <) ¢ (C) A (D) 6

- 53]
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A
ol|®
.
«D
2 ¥
Bo= Sy

Q23. In AABC with sides 6 cm, 7cm and 8cm,
the angle bisector of the largest angle
divides the opposite side into two
segments. What is the length of the shorter
segment?

AABC &t 7 ¢ At 7 A, 31z 8 A, 2
dad a3 &1 FAMGATAD TTHA ATS! o
aﬁa?ﬂﬁaﬁamélwmmm

(A) 24/5 (B) 21/5

K(c)éam (D) 56/13

.
.
- ' _




____ B Maths By Pradeep Sir i N

Q24. In a triangle ABC, D is a point on BC
such that :—g- = %. If «.B = 68° and 4C = 52°,
then measure of .BAD is equal to:

fAsfet ABc Ap T BC TH BT fAGR 6 =" =
29 af2 /B = 68° 30T 2C = 52° & .BAD BT AT

m —
(A) 60° \“% Y W [7(3) 3001
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Q25. In AABC, AD the bisector of LA, meets
BCatD.fBC=aq, AC=band AB=c, thenBD
-DC =

AABC &, LA &1 FAfgaTAS® AD & Wl BC HI D
wRfAsargiaffRec=a, AC=b3lZAB=c ¢, al
BD - DC fasaifaf@a & & fas agraz gon ?

ac a(c+b)
(A) b+c (B) c-b

e B a(c-b) ab
kc) ﬁb+ (D) b+c
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Q26. In AABC, D is a point on BC such that
AD is the bisector of ZA, AB =11.7cm, AC =
7.8 cm and BC 13 cm. What is the length (in
cm)ofDC?

AABC & D, BC U2 U@ 2T fag 2 & AD, «A &1
HAGHTAS g, AB = 1.7 A, AC = 7.8 A3t 32
BC =138 2 atpc Ht Farg (A A) T g 2
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; )8 °) Q27. PQR is a triangle, whose area is 180

cm?. S is a point on side QR, such that PS is
the angle bisector of ZQPR. If PQ: PR = 2: 3,
then what is the area (in cm(B) triangle

PSR?
0 PQR TS fRo(c &, fAasT 3% 180 A= 21 s,
X 5 3 . g ng%mm t & Ps, .QPRUZ
| PQ:PR =2:3 ¢, al fAa
2 psnme?am(mﬂ)a}am%°
=X (A) 90 llﬂ.

- (C)ra4
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Q28. The perimeter of AABC is 24 cm and its

side, BC = 9 cm. AD is the bisector of 4.BAC
while | is the incentre. Al: ID is equal to -

AABC &1 afRfAfA 24 At 2 3T 386 sfvn BC =
9 At 21 .BAC &1 FAGaTS AD g, Fald |
3d: dog £1 Al : ID F2TET 2-
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LA] Q29. In the given figure, ABC is a triangle.
¥ | The bisectors of internal «B and external 2C
intersect at D. If 4/BDC = 48°, then what is

the value (in degrees) of 2A?
& af anpfd A, ABC 'S fAA 21 B &
2 c HTedfesd dAT «.C &1 arg] ffamois D U2
wfdede Hea 21 af? .BDC = 48° §, al 2A &1
e (fReft ) s g2 -. —

A 2
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Q30. In a triangle ABC, AB: AC 5:2.BC =9
cm. BA is produced to D, and the bisector of
the Angle CAD meets BC produced at E.
What is the length (in cm) of CE?

fRa3{st ABC & AB: AC = 5:2, BC = 9 cm £1 BA

@ D dF FSAT AT £ 3 BT CAD BT
mmvﬁacaewﬁmzlcezﬂ
(cm ) ST B2

(A) 6 (B) 9

(c)1w0 (D) 3
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(A (
X o

Q3L In AABC, 4B = 72° and 4C= 44°, Side BC
is produced to D. The bisectors of 4B and
¢LACD meet at E. What is the measure of
LBEC?

AABC &, £B = 72° 312 .C= 44° 81 3fwn BC, fAsg
D d& ders Ardl g1 «B 3T <.ACD & fRamois
fAsg e R fASa gl Bec B AT FTATE ?

(A) 58° (B) 46°

o
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Q32. If the altitudes of a triangle be 3,4,6

) I B flndltsmradlu; Sl

= Tk &34 3,4,6 KL
-~ d - m mqaﬁ%mm’n .
A Y BT (V- _) a/3
v v ¢ 6/7 5/4

0 443t () (°)

Y '

v ey (v-Y
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Q33. If the given figure point | is the incenter
of AABC then find EC.
fée e @3 & af? ), AABC &1 3fea: 7 ¢ al EC
&l Sz Sira $ifAe
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Q34. If the given figure CE - BC = 6 then find

_ BF
- ?E—J the value of BE.
fée are A3 & af? ce-BC = 6 £ at BE &l &aard

sira Hifael
(A)12

CE€-Be=¢ ‘QI‘}’ B ]8
k( E" X =6 { }) X4 c) 30
L( E= 1+g]

- CI+¥=G+(p)ie
(=)
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35. fRe e fRAa & ~BAC = 120° 312 AD, ,BAC &1

.\‘ . m mm 2 ' uﬁ ADAB_AEXAC m

)’Ho ZEDC = 2ECD &, @Y 2B mmmml

r‘ A) 40
[ OF
> A (C) 60
AP (D) 80
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36. If the following figure, AD bisects angle
BAC. Find the length of BD.

fae= 3pfd A AD &1 BAC & FaAfganfaa
&edl £1 BD il SFarE sita HifAv)




Maths By Pradeep Sir

37. What is the inradius of the a triangle

whose
side are 13, 14, 15.

3: “*j—-_{’ilmm.cvaiﬁaﬁﬁam A= s &9, afk 3Edl
fisiY afoime warer: 13, 14 3112 15 2

F’?'X\\x-{x‘\xhd &*x\,\ (C)3
—a . % (o)
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1'\

e —

o
W
‘1}3
" .

I 3G

Qrs
"
N 3¢ R
A l\_{»

X

38. PQR is an isosceles triangle with sides
PQ=PR=45cmand QR=72cm. PN is a

median to base QR. What will be the length
(incm) of PN?

PQR HATZaTE e & fATS! ofTC PQ = PR =
45 &3t qan Qaa'fn A3 21PN :’-m:rzzr%n &Ht

AfEAHT 21 PN BT Saans (A3, A) Fanft 2
(A) 36
B) 24

D) 32
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39.Ina AABC, the sidesare AB=16cm, AC =
63 cm, BC = 65 cm, From A, a straight line
AM is drawn up to the midpoint M of side
BC. Then the length of AM is equal to:

AABC &1 3{TE AB = 16 cm, AC = 63 cm, BC =
65cmlARA BC & g g M & v
TS AT AM Ardt 21 AM &t Saarg aerae

. ! - |
3% (Ié + ngt (s
.ocm N
C

icg 23.5¢cm
D

31.5cm
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40. G is the centroid of the triangle ABC,
where AB, BCand CAare7cm, 24d cm and

25 cm respectively, then BG is: .
fA3{o1 ABC &1 Fovdd G &, IS ATATC AB, BC
312 CA W2l 7 cm, 24cm 312 25 cm £1 BG &1

mé:

(A) 6= cm
(B)8§cm
(C)5-cm
2
1
Qs (D) 4- cm
—_—y 2 a5 6
3 ‘3‘3&‘3
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41.In A ABC which is right angle at A and BC

6 I
is 5 cm.. BL and CM are medians. If BL 3;5 cm.
N— then CM will be |
. A ABC &, 5t A U2 FF@Ivfla § 3z A& BC = 5
" Aaft. 2, QA Ffeda1e BL den cm &) deeqare, afe
" v ¢ BL=2"@f. 2 cm & sFard fbaaft 2t
e & g
i L A) 25 &t be*‘”=%@°q
m C % B) Sﬁ [~
il o (c) 10v2 &t
2 o D) 45 &, \
C‘V] ;%g — L&ja ( ) Qg &
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y 42. PQR is a triangle such that PQ = PR. RS

= and QT are the median to the sides PQ and
; PR respectively. If the medians RS and QT
inter- sect at right angle, then what is the

P . value of (PQ/QR)??
—— PQR 38 UTE &1 U Ao & f PQ = PREIRS
[Mb FREESBCT ] o QT @dHel: 33N PQ Gl PR UE ARSI 21
p af? sfeAHIC RS TAT QT HABIVT Uz Uidwdq

Kjgyj.; c et g, A (PQ/QR)* BT ATATATE ?
S T \o”r X (p

(Fo=rm)

(D) None of these

(0] Q
[d
P@ *PRZ': COR:
R P =SOR"
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43. G is controid of given AABC. GN = 4 cm,
GM = 3 cm, £BGA 90°, then find the length of

GC.
@ I fAs(wr ABC 1 o 21 ON = 4 A,
GM = 3 A, FaT .BGA = 90° £, a1 cc &l
SdarE Ard HifAe ?

(A) 6 cm.
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44. In AABC, the medians AD, BE and CF at
G. then whichof the following is correct ?

AABC & H1EO® AD, BE 312 CF 3@dfd ¢ Uz
gt A A AT adiee

Ag AD + BE +CF )SAB-O- BC + AC)
B) 2(AD +BE +CF) > (AB+BC + AC)
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45. Consider the following statements:

1) The perimeter of a triangle is greater than

the sum of its three medinas.

2) In any triangle ABC, if D is any point on BC, then
AB+BC+ CA >» 2AD.

Which of the above statements is/are correct?

fasafaf@a sa«r gz fduar Hifav:
. fft Ragr 1 ulRRamy 3adt die Afed sl & e

ﬁigf?gaﬁmci aRRecmBE[RATZDE, A AB +BC
+CA»2Aothntl
(A) 1only
(B) 2only
(C) Bothland 2
(D) Neither 1 nor 2
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M, . ma,m3 47. In AABC, the medians AD, BE and CF
meet at O. If AD, BE, CF are 10, 24, 26 cm.

Avon: 4y | -then find the area of AABC. . .
| ":;‘JS‘“@'“- m)(sn-n-)uHABC H AD, BE 312 CF AIfEABIC Uz fAwdt 2
AD, BE, CF 10, 24, 26 A3t & @ AaBC &1

| & L
3 Ry =

. (B) 180
“’\.9‘+m3?;m3§ (D) 170 Qg‘\\\O\A%H

U\m‘- X MR K? \L;l




- Maths By Pradeep Sir

A 48. In the given figure G is centroid of AABC
and BG= 13, GC = 9, BC = 5 then find the
value of AG?

@arf arpfd A 6, A ABC BT dHe ¢ T BG =13,
GC = 9, BC = 10 2 al AG &1 3Tl 3T HifAT!

C)15
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A 49. In the triangle ABC side BC is 10 cm and
G is centroid. BE and CF are medians to the

sides AC and AB respectively. If medians BE
and CF intersect at right angle then find the
length gf AG? P >
AABC BC =10 . G doud £l BE
mcraa';g:lajmsmxc 312 AB U2 AIfLASTC 21
o af? anfeds1C BE 3T CF AASIV U2 wfdede
B * "®  © wedtEatopn Ac H BarE 1a B

I o m . )‘ A) 5
IBI_
C)I15

(D) 20
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I—

50. G is the centroid of APQR and medians
QT and PS intersect at right angle. If QT = 27
and PS =18 then find the length of RT?

fA3{c PQR &1 Foud G ¢ 3 AfASIC QT 32
PS U~ T &I AASIVI U2 ufdwde Hedi 21 afd

& QT = 27 3T PS =18 £ Al RT I FFaTE AATd BN

A)l10
RIB)IS |oT- a4
C)8 — e b
w4t (D) 20 =% o 18
5 <6




[ plkibusdes oF Toonter |

(57> bl of
,gﬂu(c:é







AOxo D= BoR6E = Cowof

)

F .‘b. A0y < Bexog - (oxof
Aﬁ\
q <













Fole Perpasbicula Biowectrr (37164 ermgonng)

I.-rcuw\( et
R =<



Qb C

I3




(RSc=<¢A
[ AS =R
LAk = U
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55. O is circumcentre of AABC if 2z.BAC = 85°
2.BCA = 80°find 2 OAC.

AABC &1 9fedax O 21f2 LBAC = 85°, LBCA =

80°al LOAC 2-
(A) 60° (B) 75°
(C) 80° (D) 30°

O+ +30=1R0

LO = éguq R = 1S
—~ @-= 35
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56. If O is circumcentre of AABC and 4BAC =
58° then find the value of 2 OBC?

af? ves fAs{c1 ABC &1 Ufeden O € AT LBAC =
58° dd LOBC BT AT FATE ?

(A) 29°

22 RO = 6Y (C) a8°
[@ - 39 \ (D) 58°
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A 57.Ina A POR,2Q = 60°, PR = 146 cm. find the
- circumradius of triangle PQR.
Rt A PQRA 2Q = 60", PR = 146 A E, Ro
5 PQRETFT Fa S AT E 2
| R (A) 7V7 cm
l;io—. 2r V6.5 (B)7V3em
TR ” . (€) 7V6 cm
:




Maths By Pradeep Sir

58. Find the distance between incentre and
cir- cumcenter of a triangle whose sides

are %8 ango cm? e 2 o -
Ch 6,8 10 €l 88
Hed: 3?: 32 aséhﬁgamﬁgm

(A) V5
(B) V6
(C) 2V2
(D) V7
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A 60.Ina AABC, AB=17.5cm AC =9 cm. Let's

D be a point on BC such that AD is

perpendicular to BC. If AD= 3cm. Then what

1S g is the ratius of the circle circumscribing the
2 AABC?

A ABC # AB =17.5 &1, Ac = 9 &l ATl BC TR

pfigzausr £ fd Ap18Cc afR AD 3 At Eal

3 > & AABC & UfiR&ay &l fAwan sita &2
*
R = axbxe B) 52.50
MD zc 13.125
2
R= V1 sxsly o D) None of these
CRix ?3;3;) RE-AS
2 X T =
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6. What is the maximum number of
circum-circles that a triangle can have?

e Ao & ufds A fds fFaa alkga
miaga .
(AN

28)2

Cc)3
(D) Infinite / 3iaid
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8 62. O is orthocentre of AABC if «.BOC = 120°
find ZBAC
o fAa{w ABC &1 Baa Fow £1 TR LBOC = 120°,
al .BAC g- A
(A) 135°
B) 90°
0
. < .
Boc = 183c-LA -
B C
BOC, = |Ro- LA
|80 = \d0—CA

L A< €o
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63. In a obtuse angled AABC, <A is obtuse
and O is orthocentre. If ZBOC = 54° then find
LBAC.

vs Afd@siviia R asc & A fdls Hor 2

312 3u®| HIadborn ¢ agaANe, Al LBOC = 54°

21 al .BAC faaTEom ?
(c)136 8
(D) N6
| 80 @
S\




Maths By Pradeep Sir

g 64. If the altitudes of atraingles are 3,4,6.
Find the ratio of its sides. _
v b fseft o & dieil woal &t Seargai 3,4, 6 2
at 38 fAa{c 61 o3l &1 3s(urd E9M-

A) 3:4:6

B -~ (B)4:3:2
a C) 3:4:1 Ae.\
(D) None

?/7‘0“(3 = 7'51'7‘(" = TRCx G A = .Lx&xg
: <
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—~ 65. In a triangle two altiude are 4 cm and 12
f R - p e\q ) {m . ] cm respectively and all the altitudes are

' 7.2, integrers. What could be the largest

possiblé length of the third altitude?
T A A @ e 4 cm 317 12 cm 21 Faft

URIR P g mz.mﬂaﬁmm
A) 4

1+18 I2-\

%, aa
% |

(D)
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@=*"n §6. In AABC, <A = 52° and O is the
orthocentre of the triangle (BO and CO
meet AC and AB at E end F respectively

& -when produced). If the bi- sector of LOBC

~_ _=.and 2£OCB meet at P, then the measure of

A

. BPC is:

AABca’fLA 52° 312 vs R &1 &a o 2l
gao CO dd Hael: E T FUZ AC Ud AB &

€ 9Td 3¢ vy fan oiran 2) 1 af? coBC
muoceés mpwﬁaﬁt al .BPC2:

l‘g;: \Qo -LA C[Q‘(-LA
ici 138° 4\\
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BO

67. A0 =8cmand OD =5 cm=s = %ﬁnd the value of

OE”

afd Ao = s Aft sz oD = 5 A > = > A ok FTA HA

(D) None
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68.fAO=8cmand OD =5 cm find BD-DC =
2 f2 Ao = 8 &4ft 3112 oD = 5 @AMt £ &t BD-DC

_8_9_:03\
=

ODx AD= drRD Qo- D C
Sx|3= CoARy
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# 69. If AABC and AD L BC, P is point of AD if AB
=16cm,AC=15cm,CP=12cm is BP?
af? fAsfs1 ABC 3R AD L BC, PfA@s@ w2 2 a1 AD
16 |z w2 AB =16 A3, Ac =15 Aficp =12 @t 2 @
1 4AL
g )
(B) V7
8 c (€))7
E\ B +cpP_ Aa-,‘.e,Pﬂ A g
LSE+ 14y = a5 + BPH |
L J 2 &
hoo =5 +Re* Bp: @X? AEHePe- ke +gp—
< _
BeP< = \3s .1 S+




S L

70. AABC is right angle triangle where £ABC

qV\? ,;@( = 90° and BN is perpendicular to AC. Here,
AB=6cm. AC =10 cm. then find BN?

\ AABC U@ HA®IV A3 ¢ fAda LABC = 90°2
. 312 BN, AC U2 &3 g1 384 AB = 6 Al AC =
¥ N 10 A1, 2, 3 BN f5aan 2o 2

\ A) 3.4

) l E > a8
8 ™
(D)4.4 . .

v JLAAN o
- A BrRC
83 - Ac
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71. C is the mid point of AB and 4BAD is
equal to «CBE and £ECA is equal to 2DCB. If
¢E = 30°, Find D.

af? c, AB &1 #ey fasy ¢ 30T LBAD, LCBE &
T LECA, .DCB & a2Tae 81 3912 ZE = 30° ¢, &
LD =?
(A) 60°
(B) 15°

B
50
(%)
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72. The sides of a triangle are 4 cm, 8 cm
and 10 cm. Find the length of the shortest

side of similar triangle whose longest side is
1I5cm?
Négmﬁw° 4 33, 8 Aeht 3itz 10 A3t 21

IA AU [Aa{c Ht FaA B2t ofen T gl

Taadt Sadl 15 33t 21
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73.Ingiven figure AD=6cm,AP=BP =3 cm,
ZAPC = £BPD and 4DAP = £EBP then find BC?
f@d 3 A3 & AD = 6 Aft, AP = BP = 3 A4,

 LAPC = /BPD 312 .DAP = LEBP g, dl BC &I
mmiﬁrﬁﬁ

A)3 cm
IG-)
(C)5em

(D) None
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op s 74.D is a point on side BC of AABC such that
AR ADIBC. E is a point on AD for which AE: ED =
€ co  9:1.1f £.BAD = 30° and tan £ACB = 6 tan DBE

x then £ACBis?
=5 < fAsw aaBc #t 3wl BC T2 D v BT Ay 2, 1S

AD, BC UZ &34 1 E, AD TR USH 4 | [
AE : :{f‘: 5:1213af2 .BAD = 30° mtmca =

tonlAcR= (kM (DBE  gyan ,DBEZ! Al LACB = ?

6 _pRX (A) 45°
DC

83 - P L
B) 30° o~ P
@@ N
D) 90°
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75. In a triangle ABC, AD is perpendicular on
side BC. E is the foot of perpendicular on
side AC from vertx B. AD and BE intersect
each other at point O. If AC = BO then find
LABC?

fA3(c1 ABC & AD 31T BC U2 &d 1 3¢ AC W2
B & 1S 1A a4 &1 UTE g1 AD 3T BE U
®! fdsg o uz wfdwde Hza ¢1afk Ac = BO
a’t ¢ABC &1 ATl i1d HIfAd 2

30° G b o

falasT 1 X [

(D) 90° © e
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76. AD is perpendicular to the internal
bisector of ABC of triangle ABC. DE is drawn
through D and parallel to BC to meet AC at
E. If the length of AC is 12cm. then the length
of AE (incm) is. .
AW AD fA3{51 ABC & £ ABC & HTdfl® fReimoias &1
D &d 21 DE, D & gi®e 3z BC & TFATae Forma

arar ¢ fAad Ac &Y £ 2 fAs @& aff ac Hi
gvaﬂgumn.zmeﬁm(m.mm

s ()8
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77. Vertex angles of two isoscles triangles

are equal. If ratio of their height is 3: 4, find
the ratio of their perimeter-

3 FAfgarg Rel & ofif Hor Faa ) afd
Jareht HuTEal &1 IeUTd 3 : 4 & At I ufRamal

&1 3e[ard M-
(A) 6:8 (B) 4:3
(C)9:16 (D) 3:4
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78. ABCD is square, BF is the angle bisector
of LABO. OBLEF, OF = 12cm, OE = 8 cm. Find
the area of ABCD.

ABCD U@ a3 21 BF, LABO &1 HAgaTHS 2l
OBLEF, OF = 12cm, OE = 8 cm, ABCD &I
TGS aarsil-
(A) 576

(B) 676

(C) 625

(D) 900
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. _
79. In the given figure, if == = — and PY = 18 cm,

then what is the value (incm ) of PQ ?

d o arpfad A, afk L= “aanpy = 18 Afl. A A
PQ BT AT (AMt. A) T g ?
(A) 28
(B)18
(C) 2
(D) 24
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80. In a given figure DE || BC and EC || ND, AE:
EB = 4:5then find EN: EB -
fév a1e f@3 & DE || BC 9T EC || ND, AE : EB =
4:5 A1 EN: EB &-
(A) 5:9
iB) 9:4

C)4:5
(D) 4:9




Maths By Pradeep Sir

81. In the given figure. if AD =12cm, AE= 8
cm and EC = 14 cm, then what is the value

incm) of BD?
a1 anpfa A, af? Ap =12 Aft., AE = 8 A,
daT EC = 14 A, ¢, at BD &1 AT (At A) =

g?

(A) 50/3
(B) 15
(c)s/3
(D) 44/3
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82. AB, EF and CD are parallel lines. Given
thatEG=5cm, GC=10cm, AB=15cm and
DC=18cm, find AC? .

AB, EF 3112 CD HdATeae 2aTe g1 Rarsran 2 fd ec
= 5 @afl., 6c =10 F3ft., AB =15 Fft. sk pC =
18 A ACHI AT FTE ?
(A) 20 &1,

(B) 24 A3

(c) 25 At.

(D) 28 &1
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ar( AABO)

9
83.Let A ABC ~A QPRand Ty If AB = 12

cm, BC = 6 cmand AC = 9 cm, then QP is equal to:

JATAT A ABC ~A QPR 3222820 _ 2 1af? AB =

ar(APQR) 16

12cm,BC=6cmMTAC=9cmE, QP aTTaL 2

(A)16cm (B)9cm

(C)12em (D) 8ecm
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84. In triangle ABC, PQ is straigth line
parallel to AC, such that area ABC: area
PBQ=3:1. Then CB: CQ s equal to:

faseft fAa{e1 ABC A, AC & HaAToae vas Hiell 2o
PQ 38 WaTE ¢ f& ABC PBQ 31 819%& ¢, al CB:
CQ @A EFM?

(A) %(\"’3 +1)

(8) 5 (V3-1)

Ok

@
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85. In APQR points Tand S are on PQ and PR,
re- spectively, such that TS is parallel to QR.
HTQ=72cm.PS1L.5cmand SR = 5.4 cm.
then find the length of PT.

APQR &, fdg T 3T s WaH2l: PQ 3T PR UZ 3
UeREfB TS, QrRE\ETFATGZEIAR TQ=7.2¢cm
PS = 1.8 cm 3112 SR = 5.4 cm 2, @l PT &} Farg
STd e

(A) 3.6cm

(B) 2.4cm

zcg 1.35cm

D)4.2cm
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86. In a given figure, AB||CD]| PQ, AB = 12
cm., CD=18cm. and AC = 6 cm. then value
of PQ (incm.)

will be-

ReyefRaAasllcoliPpQ AB=12341., cD =
18 A, d2aT AC = 6 A, A PQ &1 AT (FA.
) 2-
(a)
(8) -
(Cc)9
(o) -
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87. In AABC, F and E are the points on sides
AB and AC. respectively, such that FE || BC
and FE divides the triangle in two parts of
equal area. If ADLBC and AD intersects FE at
G,thenGD: AG =7

AABC & AB 312 AC {134 U2 el fAg F T E
38 U ¢ & FE | | BC a2 FE fA9(w &I HaTal
SA%e are & AN A RanfAa et 21 afd
AD.BC 312 AD f@g ¢ W2 FE B STl A GD :
AG=?

(A) V2:1

(B) (V2 -1):1

(C) 2v2:1

(D) (V2 + 1):1
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88. In the given figure % = %,% = -then % =7
Resefad= -2 = =2 @ - Saéifae?
()=

(8)

(c)=

(o) =
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89. In AABC, point O is intersection of AB, BE
and CF it divides AD in 4: 3. If area of BOD
and DOC are 26 cm? and 13 cm?®. Find the
area of AABC
A3 ABC &, fdsg O, AB, BE 31T CF &1 &HeTal
%tuz AD & 4: 3 3e[ura A fRanfaa
¢, af? fAa@ BOD 3% DOC &1 JA%s
wael: 26 3T 30 Al 2, Al AABC BT TGS
SiTa HifAA
(A) 52cm?
58) 56 cm?
C)54cm?
(D) None
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90. In the given figure 0 is in-center of A ABC and if

2=2_Cthen—="?
OF 4 0D 3 OF
aRf A fAadAo :ABCE!NEH:&'RQ:JTZ% ~ %;—Z -
t,a’tf}-ﬁmmmﬁﬁm

61
(‘\)Z—3

65
(3)2—3

(€)=

(D) None

wiwxm
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1 BD

AF 2
?: In the given figure — = -, — = - then find the value of

EA | ’ -
ﬁcmﬁaﬂ:—; - %ﬂ gt,a’l‘f—:mmmﬁﬁu?

DC

In the given figure > = - == = > then find the value of >
AD _3AE 5% =40 :
Remeffad2 - = - 2, @12 ®13mE 5a $ifAd :
21 31
(c)= (D) None
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92.In A ABC,X is a point on AB such that AX = 2
BX = 4. AC = 7 and BC = 5 find CX. A ABCH X TS
fdeg AB U2 3@ W 2 & Ax = 2 @l Bx = 4 A3
afé Ac =7 @M. 3 BC =5 AM. @ cx &1 A=

aarnsit

OF
(B)6
(C)3
(D) None of these
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93. AD is the median of A ABC if AO: OD=5:3
find the AE: EC.

(A) 5:6
(B) 5:8

éc; 6:5
D) 3:4
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94. In the given figure AG:GD =3:4,BD:DC =
4:7, AE = 24 cm then find the length of CE.
23 913 A3 & AG:GD = 3: 4, BD: DC 4: 7, AE =
24 A3t 2, A ce A HIfAA 2
(A) 44cm
(B) 88cm
(C)84cm
(D) 85cm
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95. In the given figure 2= = 2 2= — 2 then find the value of
cD > B 4

AD
OF

ﬁa AD 3 AE S AD
(A) =
10
31
(3)5

(€)=

(D) None
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96. In the given figure AAPJ, PR: RJ =5: 3, AQ
: QP = 3: 5. If area (APOJ) = 25 cm?. Find area
of AAPJ

28 3 AAPJ &, PR : RJ = 5:3, AQ: QP=3:5 &,
af2 APOJ BT AAB 25 cm? g, dl AT APJ &I

TGS ATd HIfAD

(A) 65
(B) 78
(C) 60
(D) None
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97. In the given figure AP=6cm,CP=5cm,
PD=2cmPE=1cmand PF=3cmthenBP =
cReefRaAAr=633f., cP=534f., PD =
2 A, PE = 1cm @M., 32 PF = 3 &, @t BP &1
ATl ATd HIfAA 2
(A) 5cm
(B) 6cm
(C)7em
(D) 8cm
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98. In AABC, AO: OE=5: 4, CO: OD = 3:2 then
find BO: OF = ?

af2 fAs{st AABC, AO: OE = 5:4,CO: OD = 3:2 ¢,
dl BO : OF 5iTd HifAd ?
(A) 38:7

(B) 36:7

(C) 29:4

(D) 4:7
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99. In the given figure 0 is in-center of A ABC
and if 22 = ngthen%‘;’: raRRMARAaAHA 0,

OF 4'0D
. AO _7 €O _5 BO
Aacmm.mtahzof =2, o0 = 32,a’loramlra
iTd HIfAA
61 65
(A)g (3)5'3'

(C) % (D) None
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100. In AABC,D.E and F are lie on BC,CA and AB
respectively. AE = AF =CD = 2,BD = CE =3 and BF =
5. If DE and CF intersect of 0.

= oD 0C
Find == and —

fsfsr A ABC #, D,E 3R F #3w: BC, CA 3R AB WX fua B
AE=AF=CD=2BD=CE=33BF=5%13% DE 3t

CF g 0 W wfaredz w1 &, ar o ol o ma AfSrae

(A) 5:3,19:2 (B) 57, 15:31
(C) 4:3,17:21 LLE
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101. In the given diagram AB || GH || DE and
GF || BD || HI, 2FGC = 80°. Find the value of
<CH\. f2e e &z & af? AB || GH || DE 3112 GF ||
BD || HI, ZFGC = 80° &, &l ~CHI &1 HATa ATd
&l

(A) 80°
(B) 120°
(C)100°
(D) 160°




Maths By Pradeep Sir -

102. In the adjoining figure, a star is shown.
What is the sum of the angles A, B, C, D and

ﬁcmﬁaﬁamﬁammta’tm;\, B, C,
D 3112 E &1 311 AT Hell

(A) 120°
(B) 180°
(C) 240°
(D) Can’t be determined
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103. In the figure find x. x &1 HAT ATd &2
(A) 60°
(B) 50°
(C) 45°
(D) 30°
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104. In the figure find x. x &1 AT STd B2
(A) N0°
(B) 120°
(C)105°
(D) 90°
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105. In the given figure PQ is parallel to RS, £
AEF = 95°, «BHS = 110°, and 2ABC = x°. Then
what is the value of x ?

fRe 31e 3R\ A PQ, RS A HAIAT 2, LAEF = 95°,
£BHS =110° 312 LABC = x° 8, Al x BI AT FATE ?

(A)15
(B) 25
(C) 30
(D) 35
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106. In the figure find x and y.
X, y &1 ATl SATd He
(A) 40°,95°
(B) 55°,95°
(C) 95°,40°
(D) 90°,45°
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107. In the given figure lines AP and 0OQ
intersect at G. If ZAGO + 4PGF = 70° and
<PGQ = 40°. Find the angle value of £PGF.

2 A A7 & AP 3R 0Q, ¢ fasy W ®ed €
3FTZ LAGO + £PGF = 70° 312 .PGQ = 40° @1 &l
£PGF &1 ATl SATd &2

(A) 35° (B) 40°
(C) 60° (D) 70°
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108. Find the values of xand y?
x 312 y BT AT AT B2

(A) 70°,65°
(B) 65°,70°
(C) 50°,72°
(D) 72°,50°
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109. Find the values of xand y?
x 312 y 1 AT AATd He

(A) 60°,100°

(B) 65°,105°
(C)105°,65°

(D) 100°,105°
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10. Find the values of x and y?
x 312 y 1 AT AATd He
(A) 75°,90°
(B) 90°,75°
(C) 70°,95°
(D) 95°,70°
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NL.Find thevaluesof x, yandz? x, y M2 2 BT
ATl SATd B

(A) 127°,50°, 50°
(B) 130°,50°, 50°
(C) 120°,50°, 50°
(D) 50°, 50°,130°
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N2. Find the values of x ?
X &1 AT STd He|
(A) 50°
(B) 55°
(C) 45°
(D) 60°
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113. Find the values of x ? x &1 ATl SATd &He |
(A) 120°
(B) 105°
(C)125°
(D) 100°
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114. Find the values of x ? x &1 AT ATd Hel
(A) 75°
(B) 60°
(C) 45°
(D) 65°
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115. Find the values of x and y?
x 312 y 1 AT AATd He
(A) 79°,117°

(B) 87°,115°

(C) 81°,121°

(D) 73°,105°
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116. Find the values of xand y?
x 312 y 1 AT AATd He
(A) 71°,32°
(B) 73°,34°
(C) 69°,31°
(D) 72°,31°
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N7.Find the values of x ?
X &1 AT SATd Hel

(A) 55°

(B) 53°

(C) 56°

(D) 51°
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8. Find the values of x ?
X &1 AT SATd Hel
(A) 79°

(B) 81°

(C) 89°

(D) 84°
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N9. Find the values of x ?
X &1 AT STd He|
(A) 142°

(B) 141°

(C)143°

(D) 144°
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120. In the fig given below PQ||RS||TU|IVW, PR
=10cm,RT=22cm,TV=16cm, QW =42cm
then find QS?

fRe e @z &, PQlIrRsIITUllVW, 3{AT PR = 10
cm, AUl RT = 22 cm, AT TV = 16cm, Al
QW= 42 cm 3{HAT QS &1 ATal SATd Hel|
(A)15¢cm (B) 8.75¢cm

(C) 22.5cm (D)12.5cm
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121. In the given fig AB ||CDI|| EF|IGH, if BH =
1IB8cmAC=2Icm,CE=12cm, QR =18 cm
and RS = 21 cm find the value of EG + PQ +
DF? f3e J1e @3 & AB |ICDI| EFIIGH (AT BH =
188 cm, AT AC = 21 cm, VAT CE = 12cm, 3l
QR=18cm HWI RS = 21 cm, EG + PQ + DF &I

AT SATd e ?
(A) 91.5 (B) 93.5
(C) 97.5 (D) 99.5
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122. In the given fig below AB ||CDJ| EF, if AB = 30

cm. EF = 50 cm, AC =% CE and BD is x cm less

than DF then find €D = ? &fid Re e faa & A ||
CD || EF T2 (AT AB = 30 cm 3{12 3T EF = 3 50 cm,
AC = CE, W1 BD, 3T DF & x Al & 21 aa afon
CD &1 Tl T EFM ?

(A mcm (B 29—3cm
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123. In the given figure O is the centre of the
circle. AC = BC and £AOB = 120°, then find
the value of 2CAO.

{32 912 A7 A g9 &1 &ow 21 AC = BC TAT LAOB
= 120° gl al .CAO &1 AT EN-

(A) 30°

(B) 45°

(C) 60°

(D) 65°
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124. In the given figure O is the centre of the
circle. 2 OAB + 2 OBA =100°, find the value of
LCAB + LCBA.

32 A A3 A ga &1 How 21 LOAB + LOBA =
100° 1 a .CAB + 2CBA &1 AT E9TI-

(A) 50°

(B) 40°

(C) 60°

(D) 55°
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125. In the given figure O is the centre of the

circle, then find the value of 2BCO.

R A A7 A ga &1 Hew &, al LBCO & ATA
Sira Hife ?

(A) 50°

(B) 60°

(C) 70°

(D) 140°
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126. AB is diameter of the semi-circle. Find
the value of BDC.

AB TTH &1 HF#gd &1 .BDC &1 ATal-

(A) 130°
(B) N0°
(C) 90°
(D) 100°
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127. In the given figure, if ZAOP = 75° and
LAOB = 120° then what is the value of
¢AQP? 3z fRu e fAa &, af? LA0P = 75° 3l
¢AOB =120°al ,LAQP faaT 8 2

(A) 45°

(B) 37.5°

(C) 30°

(D) 22.5°
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128. The centre of circle is O. AC and BD are chords of
circle which intersect at P. If ZAOB = 15° and ZAPB =
30° then tan? £APB + cot? .COD is-

U Jd &1 dow, &1 AC Ud BD gd &t oftaré g it p uz et
21af2 LAOB = 15° 312 LAPB = 30° @l tan® ZAPB + Cot?
£COD &1 AT g-

(A) 3 (B) -

4 10

(O) - (D) —

3 3
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129. An equilateral triangle ABC and a scalene

triangle DBC are inscribed in a circle on same
side of the arc. What is «.BDC equal to?

US HAAE fA9w1 ABC 32 va fAwarang fAs(w1 peC
TS gd A 919 & USH € avw ifdsa fbe aira €1 BoC

fSadsaTrae e ?
(A) 30° (B) 45°
(C) 60° (D) 90°
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130. The centre of the circle which passes
through points A, Band C is O. If ZBAO =
30°, «BCO = 40° and £AOC = x°. Then find
the value of x. f@sg3if A, B @1 ¢ & I[wigal a1
TS g &1 dow & AT LBAO = 30°, .BCO = 40°
T LAOC = x°, x BT ATA TATE ?

(A) 70° (B) 140°

(C) 210° (D) 280°
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131. In the given figure O is the centre of the
circle and ABJ|CD. If ZADC = 25°, then find
(AEB- A A gadT SO0 R ABIICD &
af2 LADC = 25° g1, at LAEB SiTd $ifAe-

(A) 45°

(B) 55°

(C) 50°

(D) 40°
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132. In the given figure O is the centre of the
circle. ZROS = 44° and RO is the angle

bisector of ~PRQ, then find the value of
LRTS.

22 I A3 A ga &1 Hew &1 LROS = 44° A
£PRQ BT AATZHTAS RO & Al LRTS &I ATal-

(A) 46° (B) 64°

(C) 69° (D) 68°
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133. AB is a chord of a circle in minor
segment with center O. C is a point on the
minor arc of the circle between the points A
and B. The tangents to the circle at Aand B
meet at the point P. If ZACB = 102°, then
whatis tgg rr;;sure o%; LAPR? (

AB, O gda&s (minor
Segment) A Htar 'gac ﬁ;;?qm pFdad g
& &Y U9 Uz U g A 3ife B g &t el 2@t
fag p we fAedt €1 Tl LacB = 102° 2, &t 2APB

&1 ATY SATd He
(A) 24° (B) 23°
(C) 27° (D) 29°
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134. Inthegivenfigure, 2 QRU=72° 2 TRS = 15°
and PSR = 95° then what is the value (in
degrees) of 2 PQR?

& 91F 3npfad A, LQRU = 72°, LTRS = 15° @AT
(PSR = 95° ¢, dl .PQR BT AT () AT g 2
(A) 85 (B) 95

(C)75 (D) 90
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135. In the above figure, YAX is the tangent
on a circle having centre O. If ZBAX = 70°
and 2 BAQ = 40°, then what is the value of
ZABQ?

I A &, vax ga &t Aae o g, =aef
ean § af? BAX = 70° 3% .BAQ = 40° §, @l

(ABQfFad aeraz e ?
(A) 20° (B) 30°
(C) 35° (D) 40°
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136. Radius of two cocentric circle is 13 cm
and 8 cm. AB is the diameter of bigger circle
and BE is the tangent of smaller circle and
touches smaller circle at point D. Find the
length of AD.
&l Aol gl &t AT Haer: 13 M. qen 8
Aaft. €1 AB G2 J9 &1 ATH € IAT BE BIE g W2
mef%mtamm%ggeo fasg uz zef &wedt
21 AD & SaarE Ara ?
(A) 20 A4,
SB) 19 .

c) 30 &,
(D) 3134,
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137. In the given figure O is the centre of the

circle. Line UTV is tangent to circle at T. VIR =

52° and PTR is an isoslece triangle such that TP
=TR.Whatis the valueof x +y + 2?

fde sre fAa & g &1 &aw 0 21 2@ UTV gu 6t =ef
AT T U2 &, LVTR = 52° 32 A PTR U HATGATE
Ry e saverefB TP =TRE-

X+ 2y + L2 mmt ?
(A) 175° (B) 208°
(C) 218° (D) 250°
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138. Tangents PT and QT are drawn on a circle of

radius 5 cm from point T which is 13 cm away
from the circle. What is the length of AB?

il radmsafl. FmaS gua s S A13

Aaft. gz ¢ =ef 2@t pr 3 Qr 3k &=t 1 21 AB
&t saard fbasft g 2

(A)-'; cm (B)%(1 cm

((‘):—(: cm (l))z—:- cm
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139. Let PAB be a secant to a circle intersecting
the circle at A and B. Let PT be the tangent

segment. If PA = 9cm and PT =12 cm, then what
is ABequalto?

aTel SIfAT PAB Ua gu il vs Bas 261 ¢ 9l g &)
A 312 B U2 ®edt 21 atal SifAe pr wef @

(EAz @A) 21afRkR PA=9cm 3R PT=12cm ¢, &t

AB f&ad aerae 22
(A)5cm (B)6ecm
(C)7em (D)9cm
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140. A circle is inscribed in a quadrilateral ABCD
touching AB, BC, CD and AD at the points P, Q, R
and S respectively, and 4B = 90°. If AD = 24 cm,
AB = 27 cm and DR = 6 cm, then what is the
circumference of the circle ?

P, Q, R 312 s f@g3if uz waer: AB, BC, CD 31 AD &1
el Head gv Us aqefal ABCD & offaz vs ga

AT ATAT £ dAT 2B = 90° 2142 AD 24 A3ft, AB 27
At sleor =6 AM 2, A g HlufRfd a2

Ag 20
B)18n
C)15n
(D) 12m
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141. A circle touches the sides BC of AABC at D
and AB and AC are produced to E and F,
respectively. If AB10cm, AC=8.6 cmand BC =
6.4 cm, then BE?

U® g AABC &1 BC oW1 92 D B Tef Bsear 2 AB @
AC & Ha2l: E dAT F a6 I F@1a1 I af2 A =
1033, Ac=8.6 Aaft. st BCc 6.4 @M. 2, Al BE=?
(A) 3.2cm/ @4t. (B) 3.5 cm/ @41,

(C) 2.2 cm/ &4, (D) 2.5 cm/ &4,
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142. In the given figure, PQRS is a square
inscribed in a circle of radius 4 cm. PQ is
produced till point Y. From Y a tangent in drawn
to the circle at point R. What is the length (in
cm) of SY?

3ifdsa a9t 21 PQ &Y vaasammntgauzv
3 R U2 s zqef 2&n it arft 21 sy
(Faft.) Aam g2

(A) 410
(Cc)6V10
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143. Two circles touch each other externally at

point P and AB is a common tangent which
touches them at point A and B respectively.
Find the value of 2 APB.

4l g S gae & p fdsg e arg] el &ea ¢ a2 AB
ves Hieft 3erafates zuef 2an ¢ oit 3 warer: A qen B
faegail a2 zqel et 21 LAPB &1 3T E9M-

(A) 45° (B) 90°

(c) 80° (D) 100°
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144. Two same circles of radius 5 cm has a

direct tangent AB and a transversal CD which
touch circle at A, Band C, D respectively. f CD =
24 cm then find the length of AB (incm)?

5 A1, fAwaT a1 A Tt gal 6t v Hieht 3srafds
el 2 AB aon vas fads Jarafas waef 2@ co 2
ot gal &' waer: A, B a ¢, D w2 :ef et 21afk co

= 24 M. At A &t Farg (A H) ra HifAvl
(A) 27 (B) 25
(C) 26 (D) 30
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145. A circle of diameter 8 cm is placed in such a
manner that it touches two perpendicular lines.

Then another smaller circle is place in the gap
such that it touches the lines and the circle.
What is the diameter of the smaller circle?

ScMATHABITH JasaAUSRIA AT B ag 2
gzaqz &a ansl &t =ef sear 21 fbe va 3=

s BieT ga R =ra A 3a wer 7o I ¢ &
ag el a3 3 gu &Y el Hzar 31 B ga &
ATHATATE ?

(A) 4(3 - V2)cm

(B) 4(3 - 2V2)cm

(C) 8(3 - V2)cm

(D) 8(3 - 2V2)cm
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146. A sacant PAB is drawn from an external

point P to the circle with centre O, intersecting it
atAand B. fOP=17cm,PA=12cmand PB = 22.5

cm, then the radius of the circle is:

faseft arg A p & dow a1 ga a i+t o1 At
PAB, 38 ®! fdg A 3z B 2 ufdwdRa wedt 21 af?
OP=17cm,PA=12cm 3RPB=225cm ¢ @ gd

&1 fAwa sira SifAe)
(A) V19 cm (B) V17 cm
(C)3VZcem (D) 2V3 cm
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147. If PA and PB are tangents drawn to a circle

with centre O at A and B from external point P
such that 2 APB = 78° then £OAB is equal to:

gk pasiiz P ag AP A &z a1 ga & AT A 32
B gz Ffteft orf Twef 2ot €, i sa wabte 2 1 cAPB =
78° 2, @t LOAB &1 ATl ST B

(A) 12° (B) 29°

(C) 39° (D) 36°
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148. From an external point A, two tangents AB
and AC have been drawn to a circle touching
the circle at B and C respectively. P and Q are
points on AB and AC respectively such that PQ
touches the circleatR.If AB=1Icm, AP=7cm
anc; AQ = 9 cm, then find the length of PQ (in
cm).

wqaqz_a;?ﬁgAaz’IznefmAa 3 AC
st orf €, o water: AT B 3 ¢ W gu & wef
®edt 1 AB 3% AC U2 fAg P 32 Q Hael: 38 VSR
fRa € & pQ g &1 g R Uz el ®edt 2132 AB =
lcm, AP = 7 cm 312 AQ = 9 cm £, at PQ &t Fard

At A) sra s

e o
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149. In the figure below, rectangle ABCD is
inscribed in the circle with centre with centre at

O. The length of side AB is greater than side BC.
The ratio of the area of the circle to the area of
the rectangle ABCD is i1 :V/3. The line segment DE

intersects AB at E such that the 20DC = 2 ADE.
The ratio AE: AD is fales1 i3 & v& 31ad ABCD

fA@a®1 &aw 0 21 3T AB & Haars ofi BC A

21 g9 & TGS a1 AT S AABS ST He[uTd 1 :
\§§m DE, AB ! E U2 3& d¢g &real ¢ &
£ODC = £ADE @l AE: AD T 3{e[UTd &1 19T ?

(A) 1:v2

(B)1: V3

(C)1:2

(D) 122
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150. Two circles, each of which passes through
the centre of the other, intersects at points M
and N. A line from M intersects the circle at K
and L, as illustrated in figure. If KL = 6 cm, com~-
pute the area of AKLN.
aqaea-masmaawtmm dar N
U2 &red gl RAArsar M & IE & g4l B K
awmzﬁta?ﬁgluféxt = 6 At & At Aot KLN T
HABS ATd |

(A) 6V3 cm?
(B) 9V3 cm?
(c) ; V3 cm?
(D) 8V3 cm?




Maths By Pradeep Sir

151. In the given figure, PQRS is a square whose

side is 8 cm. PQS and QPR are two quadrants. A

circle is placed touching both the Quadrants

and the square as shown in the figure. What is

the radius of the circle?

?Wfstrqsﬁﬂ, Pqnégmajrtﬁgﬁqma aag
| PQS 2T QPR AT €I THh

aralt aqel gaan af ;? el &2 rigra f&

rpfa A sefar s i ga s A an g ?

(A)1/2

(B)1/4

(JF:

(D)1
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152. In the given figure, PT is a common tangent
to three circles at points A, B and C respectively.

The radius of the small, medium and large
circlesis4cm,6cmand 9cm. O,, O: and O, are
the centre of the three circles. What is the value
incm) of PC?

I 3rpfa A, pT dia 3ot e diet fAsgsl warer: A,
B T C U2 33afdes uﬁeﬁwtl , ALY q2A
AaA a2 gl &1 A 4 dfl. 6 Aft. vd 9 AL 210,
0. dT 0,, di=il ul & Few €1 PC &1 ATA (azﬂ.af)
Fae?
(A) 18V6
(B)9Ve6
(C) 24V6
(D) 15V6
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153. Two chords 2a and 2b of a circle are
perpendicular to each other at a point they meet. If
the distance between the centre of circle to this
point is ¢ (c < radius of circle) then what is radius of

ircl

m' &1 2a 3112 2b SFarg &t 2 ftae mwﬁw
m z’ta‘faﬁamvgamamﬂ AR FA >

REHI AL (c« Fadl fAwm), AAgaHi A= ?

a’+b*+ct

(AJa+b+c (B)J .

JaZ+b2—c2 [az”,zﬂ.z

(D)

2 v 2

(C)
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154. In the given figure, MNOP is a square of side

6 cm. What is the value (in cm) of radius of

circle? @ 1€ angsfa A MNOP, 6 Aft. ofwTT a1 v
Ffgigad A s (. A) F=n g 2

(A) 4.25
(B) 3.75
(D) 4.55
(C)3.5
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155. In the given diagram. radius of larger circle
is 5 cm and an another circle touch larger circle
at point P and passes through it center O. PS is
chord of larger circle which cuts. Smaller circle
at point R. if OR is equals to 4cm then find the

PS.
AR R gadl A s aanzA e BleIga P
wm:meﬁgzmtlammmaqazg?%l
ﬁm;;e’t%qaaﬁnuzmzz-ﬂtlouz:uma}w
STd el
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156. In the given figure, CD and AB are diameters of
circle and AB and CD are perpendicular to each
other. LQ and SR are perpendiculars to AB and CD
respectivety. Radius of circle is 5 cm, PB: PA-2:3and
CN:ND=2:3. What is the length (in cm) of SM?

& 1€ 3npf@ A cD a1 AB §H & TH € dAT AB FAT CD
U g2 U2 Had 21 LQ dAT SR THaH2: AB AT CD W Had
giIga St A s Al 2, PB: PA2: 3FATCN :ND = 2:3 2|
sMm St saard (M. A Farg?

(A)[(5V3)-3
(B) [(4V3) - 2
(O)[(2V5) -1
(D) [(2V6) — 1]
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157. In the figure below, a circle is inscribed
inside a square. In the gap between the circle
and the square (at the corner) a rectangle
measuring 20 cm. x 10 cm. is drawn such that
the corner A of the rectangle is also a point on
the circum- ference of the circle. What is the
radius of the circleincm. ?

22 A A3 & 3maa AQPR (20 x 10) & &t 3maa
ABCD & 3iavfa ga &l fAwan sita &2l ?

- §$ﬁ:
ot Loy =
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158. In the given figures AD is a straight line. OP

is perpendicular to line AD and O is the centre of
both the circles. If OA =20 cm, OB =15 cm and
OP = 12 cm, then what is the length of AB? 3U¢
fe are fa & Ap & 2En R, o 3@ AD W He B
312 el gl &1 Hew 213f2 0A = 20 Aft, 0B =15
aaft. 3z op = 12 Afl. At AB Hl FFard fdasfi 2 2
(A) 7em (B)8cm

(C)10em (D)12em




B 1 .
159. D, E and Fare the feet of the perpendiculars
from the vertices A, B and C. respectively, of a
triangle ABC. If angle BED and angle BFE in
degrees) are 24 and 110. respectively, what is
the measure (in degrees) of angle EBF?
va fRact ABC A 2fid A, B 3fl2 c A el D, E 3T F
&da & ure g1 af? &tor Bep 312 &1t BFE (3021 &)
a2l 24° 3T N0° €, at BT EBF &HT AT (321 A)
faangom ?

(A) 55 (B) 67
(C) 46 (D) 86
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160. The sum of the internal angles of a regular

polygon is 1440°. The number of sides is:

TS AAGgHA & Hiafes SN &1 T9T 1440° 2
a3t &t dizm fbasft & 2

(A) 12

(B) 6

(C)8

(D)10
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161. The ratio of sides of two regular polygon are

I: 2 and the ratio of their internal angle is 2: 3,
what are the number of sides of both regular
polygon.

& Al B ool @ Sura 12 ¢ R IS
diafes SN & dta &1 sgura 23 21 afk 31 et

agIoit &t agon 3 6t sz waer: fasft 2 2
(A) 6,12 (B) 5,10
(C)4s8 (D)7.14
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162. If number of diagonals of any regular

polygon is 14, then value of each interior angle

of polygen is.
af? feft Fsrage[ A el &t w14 ¢, at 35

TEHA & UAD HTod (e BIVT BT AT E9N ?
(A) 120°

(B)IZB;:

(C) 1353‘7—°
(D) 140°
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163. If the measure of each exterior angle of a

regular polygon is (Sl%) then the ratio of the

number of its diagonals to the number of its sides is:

TP HA-TZAHA & TS aTgd BT H a9 (51-) 21zHS
faworl &t iz 3ie sadt afensil &t Ham &1 se[urd a2
g?

(A) 5:2

(B)13:6

(C) 3

(D) 22
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164. If each interior angle of a regular polygon is

(128 ) then what is the sum of the number of
its diagonols and the number of its sides ? af2

fseft Foragaw &1 vl iafes Hor (1282) 2, At

mﬁmﬂﬁmmmﬁmmﬁmm

aTEa g ?

(A)15

28)19
C)17
(D) 21
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164. ABCD is a trapezium where AD | BC. The diagonal
AC and BD intersect each other at the point 0. If AO =
3,0 =x-3,D0 =3x - 19 and BO = x - 5, the value of
X is~

ABCD U daiesad ¢, fAaad Ap || Be 21 f@®of Ac 3z 8D
UH-gHe B g R wwar sread g1aRk A0 =3,co=x-
3,D0=3x-19 HRBO=x5, A xBIATA AL ?

(A)-8,-9

(B)8,9

(C)-8,9

(D)8, -9
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166. If ABCDEF is a regular hexagon, then what is
the value (in degrees) of ZADB?

af2 ABCDEF U@ HAUCHA &, al LADB &I AT
() A g ?

(A)15

(B) 30

(C) a5

(D) 60
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167. In the adjoining figure there are two
congruent regular hexagons with side 6 cm. f2

1é 3npfa A 2 Fafraa wzaw & udds &t oo 6

What is the ratio of area of ABDF and APQR, if P,
Q and R are the mid points of side AF, BC and

DE?

al arsil ABDF : APQR & SIAGS! &I &l
ZI9T, AET P, Q, R Ha12l: DE, AF, BC H Hegfdse 2 ?
(A) 6:5 (B) 7:6

(C) 4:3 (D) 121
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168. In a figure AE = BC and AE || BC and length of
AB, CD and ED are same then if 2A =102°, 4BCD
=?

fae Ire A= & AE = BC a1 AE || BC a2 dtat ofTe
AB, CD @1 ED &ars A
&1 ATl SATd Hel

(A) 138°

(B)162°

(C) 88°

(D) zaA A HIE Al
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169. An equilateral triangle of area 300 cm? is

cut from its three vertices to form a regular
hexagon. Area of hexagon is what percent of

the area of triangle?

vs HHarg Rew fAasT daws 300 M2 ¢, &
Iaa i fteT &) v Jrugew Faat & f3e Hren
AT 21 9T &1 AABs A & a6 &1 fbden

ufderag?
(A) 66.66% (B) 33.33%
(C) 83.33% (D) 56.41%




